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STATION 1 (2 points) 


This type of tool first appears in association with Homo ______________________________


Justify your answer by DESCRIBING the tool: _____________________________________


___________________________________________________________________________
STATION 2 (3 points) This cranium belongs to (circle one letter)


A Homo heidelbergensis
B Paranthropus boisei 
C Homo habilis


D Homo (sapiens) neanderthalensis
E Homo (sapiens) sapiens


Name / describe two ANATOMICAL traits that you can see on this model, and that together 


define this human (as opposed to the others). Be specific and use the scientific terminology:

1. ________________________________________________________________________

2. _________________________________________________________________________

STATION 3 (4 points) This is a (circle one letter)
A human foot
B chimpanzee foot



Name / describe two ANATOMICAL traits that you can see on this model to justify your answer.

1. ________________________________________________________________________

2. ________________________________________________________________________


With respect to the FIRST trait you picked, are the Laetoli footprints (circle one letter)

A chimp like?
B human like?
C intermediate in morphology (i.e. between A and B)?


To which hominin species have the Laetoli footprints been attributed? (Circle one letter)



A Australopithecus africanus
B Homo erectus
C Paranthropus boisei


D Australopithecus afarensis
E Homo habilis
 
STATION 4 (2 points) 

a. What is the FUNCTION of primary area “A” (ask for clarification if you are not sure where the arrow is pointing on the specimen) ___________________________________


b. Which SIDE of the body does “A” control, left or right? (circle the answer)
STATION 5 (3 points) This cranium belongs to (circle one letter) 


A Homo habilis
B Homo erectus
C Paranthropus boisei
D Homo heidelbergensis



a. What is the FUNCTION of “A” (see arrow)? ____________________________________



_______________________________________________________________________

b. Based on its overall morphology, this hominin is assumed to have primarily eaten (circle one 



letter) 
A fruit
B meat
 C nuts and fibrous vegetable matter
D everything

STATION 6 (1 point) 


What is the FUNCTION of “A”? ________________________________________________

STATION 7 (3 points) This cranium belongs to (circle the best answer)


A Homo (sapiens) neanderthalensis
B Homo erectus

C Homo habilis


D Homo (sapiens) sapiens


E Homo heidelbergensis


Name / describe two ANATOMICAL traits that you can see on this model, and that together 


define this human (as opposed to the others). Be specific and use the scientific terminology:

1. ________________________________________________________________________


2.  ___________________________________________________________________

STATION 8 (2 points) 


This type of tool first appears in association with Homo ______________________________


Justify your answer by DESCRIBING the tool: _____________________________________


___________________________________________________________________________

STATION 9 (2.5 points) This is Lucy’s pelvic bone. Is it (circle one letter)


A chimp like?  
B human like? 
C intermediate in morphology (i.e.between A and B)?


Use ANATOMY to justify your answer. Be very specific: ___________________________


__________________________________________________________________________


The scientific name of this hominin is (circle one letter)



A Pan troglodytes
B Australopithecus africanus
C Homo habilis
D Australopithecus afarensis

STATION 10 (3 points) This mandible belongs to (circle one letter)


A Homo heidelbergensis
B Australopithecus africanus 
C Homo habilis


D Homo (sapiens) neanderthalensis

E Homo (sapiens) sapiens


Name / describe two ANATOMICAL traits that you can see on this model, and that together 


define this human (as opposed to the others). Be specific and use the scientific terminology:

1. ________________________________________________________________________

2. ________________________________________________________________________

STATION 11 (2 points) Look at area “A” (very front area of the lobe only) 

a. Name one FUNCTION that this area controls: ___________________________________

b. In which human species does this area change the most? Homo _____________________

STATION 12 (1.5 points) 


Which is the cranium of Australopithecus afarensis, A or B? (circle one letter)

Use ANATOMY to justify your answer. Be specific and use the scientific terminology: ___________________________________________________________________________

STATION 13 (2 points) 


This type of tool first appears in association with Homo ______________________________


Justify your answer by DESCRIBING the tool: _____________________________________


___________________________________________________________________________

STATION 14 (3 points) This cranium belongs to (circle one letter)


A Homo (sapiens) neanderthalensis
B Homo erectus

C Homo habilis


D Homo (sapiens) sapiens


E Homo heidelbergensis


Name / describe two ANATOMICAL traits that you can see on this model, and that together 


define this human (as opposed to the others). Be specific and use the scientific terminology:

1. ________________________________________________________________________

2. _________________________________________________________________________ 
STATION 15 (2.5 points) 


This mandible belongs to a (circle the better answer)
A hominin
B hominoid 


Use ANATOMY to justify your answer: __________________________________________


___________________________________________________________________________


The scientific name of this fossil is (circle one letter)



A Pan troglodytes
B Australopithecus africanus
C Homo habilis
D Australopithecus afarensis
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STATION 16 (1.5 points) This femur belongs to a (circle one letter)  A human
B chimpanzee


Use ANATOMY to justify your answer. Be specific and use the scientific terminology:


___________________________________________________________________________


___________________________________________________________________________

STATION 17 (3 points) Ask if you are not sure which area or feature the arrow points to.

a. A stroke occurs in area “A” 


Name one FUNCTION that will be impaired: _____________________________

b. Feature “B” is called the ______________________________


“B” separates the temporal lobe from the _____________________ lobe and the 



____________________ lobe

STATION 18 (1.5 points) 


Which is the mandible of Australopithecus afarensis, A or B? (Circle one letter)


Use ANATOMY to justify your answer: __________________________________________


___________________________________________________________________________

STATION 19 (2 points) 


This type of tool first appears in association with Homo ______________________________


Justify your answer by DESCRIBING the tool: _____________________________________


___________________________________________________________________________

STATION 20 (1.5 points) These two specimens belong to Australopithecus africanus and Homo 


habilis. Which is the cranium of Homo habilis, A or B? (Circle one letter)


Use ANATOMY to justify your answer: __________________________________________


___________________________________________________________________________

STATION 21 (3 points) This cranium belongs to (circle one letter)


A Homo (sapiens) neanderthalensis
B Homo erectus

C Homo habilis


D Homo (sapiens) sapiens


E Paranthropus boisei


Name / describe two ANATOMICAL traits that you can see on this model, and that together 


define this human (as opposed to the others). Be specific and use the scientific terminology:

1. ________________________________________________________________________


2. _________________________________________________________________________

*****

QUESTION 1 (1 point) Which of the following statements best defines a hominin? (Circle one 


letter)



a. primate with elaborate culture

b. large-brained biped




c. large-brained bipedal primate

d. bipedal primate



e. large-brained bipedal primate with small canines and elaborate culture

QUESTION 2 / extra credit (2 points)

a. According to anthropologists, when did the Hominini originate? ___________

b. In what country, according to the current evidence? _____________

c. What is the scientific name of the fossil you used to answer a and b?

_________________________________

